= o
A & 0l & AF 2 E A A
20158 & =04 LBHSIH EFERZAIDIEE
SN BECADIES
Hu: BECA XA
ool BEHY S4 CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TESNBIET! 1,071,459 336,776 734,683
Xl 300,000
AlHI 150,000
- Hl 621,459
EEEA =4 1,011,062 276,799 734,263
X 300,000
AlHI 150,000
T Hl 561,062
FrdeE =4 382,974 244,711 138,263
oAz st 19,740 20,840 A 1,100
201 Let24d] 12,500 11,600 900
01 At 22/l 12,500 11,600 900
oF=orztdiol 24 7,000,000 7,000
O Al#2H Nz M 3,000,000 3,000
OFXAHOODE =4 2,500,000& 2,500
203 R =&l 2,000 2,000 0
03 AIHF=XH R =AH| 2,000 2,000 0
OFYASARF 2,000,000& 2,000
303 &3 5,240 7,240 A 2,000
01 243 5,240 7,240 A 2,000
OXNAdy B Ald 1,000
LE2HMBH 2AM) 600,000 600
==XH(3Y) 400,000& 400
OFYFZMAL2Y =1 Al
30,0003 x4H +23] 240
OEXZAHOUOS #WXIOHY 200,000& »20H 4,000
22302 24 244,834 133,871 110,963
101 @14 Hl 101,914 40,751 61,163
04 JIZHHZ22XREES 101,914 40,751 61,163
OZ&Zsots 29 Bx 101,914
QI 24l 74,097,000& 74,097
=Xt 14,504,000& 14,504
- Xt 3,800,000& 3,800
=20 E RE3 92,401,000& *4.5% 4,159
- UEBE RE3 92,401,000& *1.5% 1,387
CAMTHEE RE3 92,401,000& *1. 1% 1,017
- ZUALEBE RS 92,401,000 *2.995% 2,768
LOFIIRAEE RES
2,768,000 *6.55% 182
201 YEt2 | 135,320 61,920 73,400
01 AP 2teltl 85,100 42,260 42,840
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SA: BECAIDIEE
HH: BECA X4
ool BEMY R4 2 ERA)
- - . =]
SN EH .S (3H) - HRAY - B %Eﬁ HDS2
201 et A | 25,088 26,688 A 1,600
01 AFR2t2ldl 13,040 14,640 A 1,600
O#=HEYH &9 150,000 * 128 *204 A& 3,600
OZz ]y ZAx< 20,0003 *3H x 123 x12& 8,640
O#H=0E FLUNR 21 O0F = *200,000& *23| 800
02 332Z 4l 12,048 12,048 0
oxs 3= 370,000 x12& *2JH &~ 8,880
ORoAHY =2 132,000 = 12& *201 & 3,168
203 &R = b 500 500 0
03 Al =X H R =X Y| 500 500 0
O#H=0tE0t=0| =& 500,000& 500
FraY AL 2,500 2,500 0
201 LEr2 9| 2,000 2,000 0
01 At 22l Yl 2,000 2,000 0
OsH2g s 8¢ 2,000,000& 2,000
203 R =Ty 500 500 0
03 Al Z=XIAH L= XY 500 500 0
OFXNMY gRFA 500,000& 500
Cihs &X HARLIE & 600,000 0 600,000
Xl 300,000
AlHl 150,000
2| 150,000
401 AIEHIL 20| 600,000 0 600,000
Xl 300,000
Al H] 150,000
2| 150,000
01 A& HI 600,000 0 600,000
Otitls &x HRLUIE & x4
600,000,000 600,000
Xl 300,000
Al H] 150,000
sl 150,000
HHSHAH (X AIDIEH) 60,397 59,977 420
oled 2 oty 47,045 46,625 420
ol 2AH| 47,045 46,625 420
101 @121l 47,045 46,625 420
02 JIEt® 2% 47,045 46,625 420
O30 Xe AAHXA(CHZ) 47,045
as 35,581,000& *x1H 35,581
SAN2AZ2ELE 7,507 & x32A| 2t x12& 2,883
Ot EY 960
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SAT BECAIDEE
M HHRIYGU (BRI AIDIIEC)
& o 2d|
= _ — d =
SA - BB B () - MM - BES Ol &t o e
- B Xt 40,0003 1«12 480
- JIEt 20,000 «2H 128 480
- ZHZ A 130,000& x1H «12& 1,560
g2l 140,000 x1H 128 1,680
- S 240,000& x1H =123 2,880
el sl 50,0003 <1 «12& 600
It E &Y 35,581,000& *84%+11/365 901
JlEZl 13,352 13,352
JlE2&l 13,352 13,352
201 LBH2Z| 10,352 10,352
01 At 2t 2l 10,352 10,352
ORNM2E =8l 6,320,000 6,320
OJlege+8d Sl 4,032,000& 4,032
203 YR =&l 3,000 3,000
04 FN2ELRZ=TH| 3,000 3,000
ORN2IYSF=AHI 3,000,000& 3,000

- 125 -




